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1. A is B's sister, C is B'S mother. Dis| 1. ABHTEAE, c,p#iui | D, CH Mt
.A} C's father. E is D's mother, then how is E DHIui g, @ A, Dﬁ%ﬁ'ﬂﬂﬁm% ? ;
Arclated toD ? ' (A) FA % ¢l
(A) Daughter ®) o
Granddaughter /! —
£ (C) Grandmother , .(C)' e ) |
(D) Grandfather ' \ 09) - 1 (A S SR A
2. PSLV 1 1 el &, Sl 6 ISRO % SITE

2. What is PSLV stands for, \'Vhich is one of
YR A B ?

the/satellite launching vehirilc of ISRO ?
Payload of Satcllite Launch Vehicle (A) Payload of Satellite Launch Vehicle
(B) Polar Surface object Launch Vehicle

(B) Polar Surface object Launch Vehicle
(C) Polar Satellite Launch Vehicle

§
|
|

(C) Polar Satellite Launch Vehicle

|/

(D) None of the above (D) WA F & FIS el
3 lfA=(:] :].whcrcneNthan"is 3. ZlﬁA-(:] :JﬁﬁneN,?ﬁA"%
1 0 (1 0 10 10
*) ( ] B ] A
1 n ()\n -l () 1 n (B)'ﬂ,,,—l -
| n (1 0) I
)( ] o (1. . n 1 0
JéOI (\n]J “01 (D)nl
4. Manufacturing unit of Hero Honda 4. g&amﬁﬂﬂﬁmﬁm@mmﬁmmm
Motorcycle is located in which district of e ?
Haryana ? -
(A) Palwal (A) Ye"e
\-‘(g))/.‘?irsa @) fon
Faridabad (C) WIEEE
(D) Rewari (D) WrE
5. In Python comments start with 5, YA H, W e F e ge e Bl
symbol. ———
4 ~ @A) $ (B) &

RGR: (B) & |
€) * M (C) 2 (D) #

. ghamon i fRA AR A E ?

6. The number of Municipal Corporation in | 6

/0 8 (D) 9 ) 8 D) 9

|
H
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= An ancient temple Bhadrakalj is «; .
' akali :
. the district of 15 Situated in

(X Rewari (B) Ambala
(C) Mewat (D) Kurukshetra

In .wljich sorting algorithm, every adjacent
- pair 1s compared and swapped if they. are
not in the right order ?

(A) Bubble Sort (B) Linear Sort
/. (C) Selection Sort (D) Insertion Sort

D. Which of the following Environmental
organization has launched the “clean seas”
~ campaign ?
(A) Ocean conservancy
UN Environment
(C) Sea Web
(D) Blue ventures

10. First meter gauge commercial train ran on

which route ?

..4(46 Delhi — Rohatak
(B) Kurukshetra - Jeend

(C) Delhi — Rewari |
(D) Delhi — Panipat

11. The city was founded by Firoz Shah Tughlaq
(A) Biwani _ Hisar
(C) Gurugram - (D) Panipat

12. Valucof(ﬁxfikf)«-(px})xj+(ﬁxi)xE=.
(A) 3P e B0 P
©) 4p (D) -2p

13. Inacertain language, ‘wcs_bggm&.
is written as hﬂl_s_cs_, are brightly
lit' as ‘kado wla ari 63 _and ‘light comes
from sun’ as ‘dW’, what code-
words are written for ‘sun’ and ‘brightly” ?

‘9«)’ lo, ba (B) ba,lo

(C) ba, sul (D) sul,lo

N ) bok3

M

10.

11.

12.

13.

52019 (1) (E1)
U, g Hiet e o ot # flm R ¢

(A) @ ' (B) sf=mEn
() Aamd (D) Fe&d

R Syofyercor T, Yo 3 gm
H afi argeTaga @ Sl @ afe 3 =

o et e ST o el d FE

R TTe e 3 @ for T I
(A) Trarh (B) f&am
(C) eI (D) YHE

(ﬁx‘i‘)xi+(px‘j)x'j+(ﬁxi\()xﬁ
F AR ?

(A) 3P (B) ©
C) 4p (D) -2P

w T 9 # ‘sun shines brightly’ &l
‘ba lo sul’ &9 | ferar v %, ‘houses are
brightly lit’ @ ‘kado ula ari ba’ % &4 H feran
ST @ 3R ‘light comes from sun’ %! ‘dopi
kup lonro’ Fw0i RrE S R, T HE TR
‘sun’ 31 ‘brightly’ ¥ fog fer@ mu & 2

(A) lo, ba (B) ba,lo

(C) ba, sul (D) sul,lo
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14, Pointing towardsagirl in the picture, Sarita
said “Sghc is the mother of l\-[chu, whose
father, is my son”. How is Sanl_ﬂ related to

the girl in the picture ? R
(A) Mother (B) Nohen £th
(C) Aunt (Dyahce:0t these

|
=
15. Chandra X Ray observatory, 1S a flagship-
class space telescope of which of the
following space agency
(A) NASA |
(B). Roscosmos !
' ISRO
(D) None of the above

16. Which of the following satellite launch
vehicle (Rocket) of ISRO nick named as

Balighali ?
GSLV Mk III
) Scram Jet Engine - TD

(C) RLV-TD
(D) None of the above

' In which year did Columbus reached the
Island of West Indies ?

(A) 1520 j. 1556
©) 1492 (D) 1498

18.  Structure of Ni(CO) is
Tetrahcdra(ll :
(B) Trigonal planar
.. (©) Square planar
(D) Trigonal pyramidal

19, 'tl)‘;ne Ampere-Maxwells equation is given

(&) ¢ Edi=9%

dt
®) $Bg= Mol + g & dog
dt
© $ran=-Q
€5

y'95B.M=0\
'H

14.

15.

16.

17.

18.

19.

R F‘I’@,ﬁﬁaﬁtmm@,:
a1 a8 e < A 2, o e i
T H e ¥ A Heiftra ® afan 2
(A) Wr (B) == Wi
(C) =Tt (D) T AFH

51 T gemen, Frafafaa § @
e e e Ao ) el
(A) NASA

(B) Roscosmos

(C) ISRO

(D) 3T # § IS 7

ISRO 3 3T W& I (Wehe) H & &
I A @ ¢

(A) GSLV Mk I1I

(B) &9 S 35 -TD

(C) RLV-TD

(D) I A A 13 TE _
firm 9 FrciaE SEd e T T
(A) 1520 (B) 1556
©) 1492 (D) 1498

Ni(CO), o He1 ?

e Arerrien e P 2
27
_ —dog
(A) $Ed=—F
o dog
(B) cﬁ B:d! = Hole + Ho Eo—d'l'r'
_Q
C) $EdA= -
(D) §BdA=0
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20, ‘What is the mechanical energy E of the
| ¥ I'i'qgar oscillator ? Given initially, the
* Block’s position is x = 11 cm, speed is

|r * v =0 and spring constanyk = 65 Nm-'.
e (A) 0797 ) 0.11]
L L (C) 0661 (D) ,0.39)

\

|
'éz “The C# or Visual Basic compiler converts
/Y\ your code into a special language named

@ MIsL (B) MMSL
(C) MSSL (D) MSIL

.
22. 1Ina certain code language, ‘pen pencil’_is

: R
written as/ 3¢’ “eraser sharpener” is wrilten
as "‘@#’ and ‘pencil eraser’ is written as
{w‘. then what is the code for ‘pen’ ?

-_/
(A) @ (B),1
©) # D) §

Choose the word which is least like other

' . worgs in the group.’
) Tomato”  «H) Ginger

&C) Carrot | (D). Potato
24. (l.‘;\mplct; lhe; series.
31 (B) 33
©) 27 (D) 29

25.

If A is @23 x 3 non singular matrix and

1 @/EIZ

(A) 3
1 (D) None of these

(C) 7]

-

23.

) 5/2019 (1) (E1)
20. e AR B 3 B 7 v

T sgifen ot foafay x = Ilem®,mf v =0 2ix
Tt R k = 65 Nm~ 2 |

(A) 0.791 (B) 0.11]
(C)_0.66J (D) 0.39])

21. C# 31 T ATITOT FIEER M6 F2 )
T fariy v gRafda s @
FHEaTdl 2
(A) MISL (B) MMSL
(C) MSSL (D) MSIL

22, U fAfvea |fgar A, ‘pen pencil’ 1 ‘7 &

9 1 el 3 for@r SITan 8, “eraser sharpener’
Fl ‘@# & 9 1 forar wimar g 3R ‘pencil
eraser’ &l ‘$@’ & &Y H for@n wman &, @

spen’%%qmwm%?

A) @ L0

© # D)3s

Frefofea 3 & 9g we2 g wE F @)

a1 ¥ w0 a2 |

(A) X (B) 33H

(C) TR (D) 3]
24. s@Een gl Hifdm |

1,3,7,13,21,2?

(A) 31 (B) 33

(C) 27 (D) 29
25, ﬂﬁA@3x3%ﬁﬂvﬂq(nonsingular)w%

3 |A|=3, F|2A)| =

1
® 1 ®) 55
H

L '
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5/2019 (1) (E1) " o et Y ‘T e Imfl
“Butter’ is | 26 . 2 3 HF:F{ H ‘T
26. If ‘Orange’ is called ‘Butter'§ : A aEd 9rdt &, & :
. ‘ alled ‘Ink’, ‘Ink’ ; ' ) ‘TIES T Sl 234
called ‘Soap', ‘Soap’ is € lled AL, el :
is called ‘Honey’ and ‘Honey’ is ca 1 ‘g’ ) AT 1 <11 o, et
*‘Orange’, which of the followmg is use qIea — e ¥ Rru RraT <
for wﬁlﬂgg/,___dmm‘-sl F:Hﬂ C () =@
(A) Soap (B (( C; WE’ (D) wFEd
C) H ) Butter
(C) Honey g e T I-FfiF T qgh
afilein| 27 b N
27. Which functions allow us to access 3 T ﬁqgaﬁiﬁaﬁqﬁ
a non-sequential or random mrfdc ? i wme(q);'as:dl writelinésO
(A) write() and writelines() ) NigieD read()
S ey et (€) seek() and tell()
| seek() an ' :
L (D) read() and readline() (D) read() and readline() .
’ 28. 'Who was the first Chief Minister of Haryana? | 28. gmmaaqgag@qﬁa%q& - A é\
. JA’)/ Devilal (A) %aﬁaTa
(B) Bansilal (B) =t i
(C) Bhagwat Dayal Sharma - (C) ¥dd <g1cd
(D) Rao Virender Singh (D) = &t fae |
29. Sacchar formula was introduced in which | 29. Tt e T o B 3T femm T o ?
yeer B) 1949
(A) 1948 (B) 1949 LA) 149 (B)
(C) 1945 yy/ 1946 (C) 1945 (D) 1946
30. Whichofthe following is/are the government | 30. amﬁ@aﬁﬁaxﬁ?aﬁqﬁ%‘lmw
scheme (s) for the promotion of sports in qeEd 8 7 :
Haryana ?
A) wfeo
(A) Provide training ((B; e of
(B) Build the sports stadium G ﬁl kil s
(C) Grant for sports institutes ©) Sige™
\(D)/ All of the above (D) mmﬂ _
- What s the  strength _Q_f_]udgcs inPunjaband | 31. T ﬁtg\’tﬂrﬂnﬁ T B =
¥ 38 (A) 48 (B) 38
©). 68 (D) 58 (C) 68 (D) 58 :
32 Which of the dance is mainly performedon | 32, ﬁammrtﬂﬁa%ﬁ-miﬂ'ﬂ@mﬁmm
the marriage ceremony ? (A)
(A) Guggadance — (B) ﬂ%w
(B) Gangor puja dance A
(C) hodi dance = _ (C) OE T
( Dhamal dance (D) 99T T
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| 33. ‘InPython which data type is unordered and

- mutable ? J
.(A) Mapping W) Tuples

(C) Sets (D) Sequence

34. The volume of a Parallelopiped whose
co-terminal edges are the vectors

a=2i+j-3kb=i+j+2kand ¢=i-2j+3k
s

(A) 4i c.ubic units (B) 22 cubic units

32 cubic units (D) 12 cubic units

35. Ifacurrentloop carrying a current I, with N

36.

37.

38.

tumns and area enclosed by the current is A,
then the magnetic dipole moment is given

Choose the pair of words that shows the
same relationship as given by the pair.

lels : C!to|ng 4

{8Y Insects : Entomology

(B) Tiggﬁés:MOT@ggy

(C) Diseases : Physiolo

(D) Worms : Ornithology |
~———F

When was Seema Aayog formed to decide
Upon separation of Punjab and Haryana ?

‘(‘g December 1941 (B) Jgnuary 1951
) May 1975 Mtober 1965

If the dagn .. .
meth tata allribute of the cl

od attribyta”
ute are i
an same scope, then

te will be gj
(A) MO prigryy, s BV

e S

B) higher priorit
C) equaip: . gher priority
52 Pricrity Q—D/ lower priority

e

33.

35.

37.

38.

B st 31w FRe o ol fo o ?
" (A) Teget 1941 (B) walt 1951

-_—

2009y gy
e # HH-F HAHS FHR gy ah

(A) AT (B) &
() ¥@ (D) frsiw
T GHHTA ISt 1 3T 41 2 g

g e foFRi o | ST a=2i + - 3k,
b=i+j+2k3MC=i-2j+3k 77

(A) 20 FFE (B) 22T TRl
(C) 32vAHE (D) 129 EEl

Ife woh foga umr <, fga 1 H Ngue 3

A <man & 3R ferga g e fRm T & A R,

o gerehra fayeia i foraeh gm0 < STt @ 7
I

(A) m=NIA B) m=—"

N A

(&) m=cs (D) m=

9% WIe8 T g it g g g gra gwig e
ey =l i@ € |
FIRE : BRI &

(A) e : Frefamm

(B) e : IMHIaTH

(C) Tm : yitRfasm A

(D) i : wfdrfamm

T ST <l T el AT T, ST Wl 3¢

() = 1975 (D) Tager 1965

AR o & e ugiege ok fft W
IUE IS H 8, A SR __——
=l feu s

(A) ey e (B) I ST
(©) wur smafwar (D)

L
- - >
LN A D e —

H
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39, Who was the first Speaker pf..’“ﬂf)’ana
Legislative Assembly ? . .‘
) Shanno Devi |
(B) Manphool Singh_
(C) Kuldeep Sharma
(D) Eshwar Singh

|

40. Choose the pair of words that shows the
‘same relationship as given by the pair.

Scalp : Hair ::
\(?g Earth : Grass
B) Fur:Cap \

) Home: Cattle
Nail : Nailpolish

.ere is the Haryana Public Service

~omsission located ?
"‘}X?::anchkula (B) Gurugram

(C) Sonipat (D) Panipat

42. Whichone of the following is not a database
management system ?
(A) dBASE

(C) PostgreSQL

) FoxPro
(D) SAK

43. Lala Lajpat Rai actively participated in the

L':?dcshi ang!olan from which district ?
) Hisar =

(B) Sonipat
© Rohsk (D) paipa

44. On which of the following subject both
Union and State Government can make
laws ?

9{( Concurrent list subject

‘(B) Residuary subject
(C) Union list subject
(D) State list subject

39.

40,

41.

42.

43.

THAHE R Iaiiv s Ilw
B&mvnfétm T T Ui STt i o1 ?
(A) STt

(B) wige Fw
(C) e I
(D) svax faw -

& =8 I TS few me 3w g iy
ae il feam € |

a9

(A) Al : g™

(B) W : e

(C) T&: 7Y

(D) TG : TG e

e S Qa1 T el R 7

(A) =G (B) &M

(C) Triua (D) U
fafafas & @ SF-81 T SeEE Yo
qUTA AE & ¢
(A) dBASE

(C) PostgreSQL

(B) FoxPro
(D) SAK -

)
ATell @eivd T < eyt AicieH 4 g fs
J i s 8w o en ?

(A) fam (B) rtud
(C) Vgah (D) uriga

frafaftaa o 2 e fowg w g e T
TOHR ST HT 1 T © 7

(A) wwe e for

(B) ~rafimefawd.. ...

(C) el weh Forem

(D) T e Farer
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Which of the following space agencies
involved in BepiColombo mission, an

unmanned spacecraft carryiﬁ g a two probes

into orbit of Mercury ?

(A) ISROand NASA

(B) European and Japan space agencies
(C) NASA and European space agencies
\(575 None of the above

46. 1In 1984, which of the following is Haryana’s
most famous film whose song is most
popular ? '
(A) Lado
(C) Dhan Paraya

) Chandrawal
(D) Lambardar

47. Becj Bachao Andolan (save the seed) was
initially started in
(A) -West Bengal
(B) Uttarakhand U

(C) Bihar
(17) Madhya Pradesh ] \

48. In Narnaul area which State is bordered

~ —three sides ?
v d ‘} i -
njab
adhya Pradesh

) Rajasthan
(D) Uttar Pradesh

49. 1fc.means + B means —
y , Y means X,
0 means +then306 10y 5 o 10 B 20 is
5 (B) 15
9 3
(©) D) 10
A non empty subset i
50- 7 id 10 be a subproyo s SLABTOUP (G, #) is
( B) Commutative .5

hold in H n ASSociatiye laws
/H.C—Gand(ﬂ,;).ha .
Tp) None oftese o

PR R
W= \D'KIS >\0 "
RS | \gx \D

Download from Wwww.

45,

46.

47.

48.

49.

50.

\

: 5120 \kL'v
ot et ﬁmﬁ%? %(41;5?‘“ q
W@G’fmﬁa%,n@mﬁa'yﬁ |
maﬁé\@“ﬁﬁﬁﬂﬁmﬁ@,mﬁhﬁ
(A) ISRO 3T NASA 3
(B) ZAEA TSI b i
(C) NASA 3T Siafeey i
(D) <o o A IS T

1984 & gRET # THE AR frey
e o 4 FA-H o, R

TR e ! :
(B) S=Ed
(D) TEER

e e ST e T g ?
(A) ST
(B) ITES

ol 5

%ﬂa«%ﬁ%iﬂaaﬁtmmﬁ?ﬂwﬁmﬁ
? .

(A) =TT

(B) W& W

(C) TS

(D) IW I *

e o o1 31 +, P13 —, y 1 37 x, OFH
Y -dA30010y5 108208
(A) 5 (B) 15
) 3 (D) 10

T PR (G, ) & 3T Svage==d H, R
ERSLRE G S

(A) HcG

(B) fafmy s ae=d At p# 3

©) HQG@T(H,*}@W%

(D) ¥ & i e

MsSEducationTv.com



212019 (1) (E1)

S1. Study the diagram given beloW to answer
the following qucstion;o.

?ﬁ’)

52,

(D) Panipat
55. The value of A for which the hoﬁogcncous
systcm).x+)'+2 =0,~x+

c }inx ﬂv;,w

The triangle in the above ﬁgure depicts
women in villages, the square depicts the
unemployed women and the circle depicts
the educated women.

Educated employed women in villages are
represented by s
(A) F
© D

) G
) E

In which year Punjab hlgh court shifted to
Chandigarh ? :
1957 (B) 1958
- (C) 1955 (D) 1956

.Which one of the following is true with
regard to Mahayana cult of Buddhism ?

(A) They refer as greater vehicle

(B) Worship of Buddha’s image was an
important tradition of this cult

(&) (V)ngmal followers'were called lower

/\_9)‘ All the above

The district i
number of

A) Hisar
(C) Karnal

in which should have highest
m sabhas 7

\@f Gurugram

y+z=0,
Zx=y+A= = 0 has.non-trivial/solution-is

B0

LT

. mmmmﬁ%%ﬂﬂ%ﬁqﬂ
T FY, |

IR ATHia & Feprr it § wfgenad F
<vTiar & | =l Ser afenstt St g
afr g frféra wfeened <t qwia @ |
nita} 3 frféra Areru Aftemd A w1 A
L) B

(A) F _ B) G

(C) D (D) E

52, Fraad o el = e SEG H TR

? :
(%1 1957 (B) 1958
(C) 1955 (D) 1956

53.” dirg ol 3 e vy 3 gay § Pl

AFA-THA R 7

(A) 3 e aTEH 1 HEIA F & /

(B) aaﬁaﬁﬁwmwﬁ@ﬂﬂ
gy oft

(C)  STRIFSh STl o =2 et oo it &

(D) I oft

54, ﬁmﬁ%ﬂmm@mmmﬁ

=fga ?
A) &ar (B) Teu™
(C) FETA (D) UHIId
55. A T 1 B Rrerds Rre w SO

Z,x+y+2-0 —x+hy+z—(
_X—y+A=03TDEANR ]

3 (A) 3 (B) 0

Lg o J’ (D) -3 ©) 3 (D) -3
Ar . -

/
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56. In database, a relation means a 56. =R H, ©F way w%”.m (1) gy
(A) Tl.lplc \SBfTﬂble (A) g\;qa -y (B) éaa
(C) Domain (D) Key © " (D) &
| x 3 7 x 37
| 57. Ifx=-9isarootof {2 x 2|=0.then | 57. 3 |2 X 2|=0FTHTHx=_g3
7 6 x | J1'6 X
the other two roots are ! 2 agfta’t oL
A) 2,74 B) -2,=7 Aj2,7 - (B) -2-7
y{ N (D) 2,-7 @ ©)-2,7 (D) 2.7_7_-1(’1‘ ¥
58. EDTAis___ ligand. 58. EDTA_____fﬁ"T_&": =44 2 %‘\
_ (A) ,Hexadentate v uj Q@ (A) T SgH 5 I \T
Tetradentate @&ﬂu/ P (B) =1g: &d% T %
: (C) Monodentate ¢ : (C) TG \T_~+
(D) Bidentate @ @ (D) ATTH N A o{£
59. In a code Ia;guagc SOLID is written as'| 159, T fifvaa wfear &, SOLID Wee #1
WESLPIMFHA. What does the code word | ' WPSLPIMFHA F ®9 T Gehel [0 fohal
: MBVOfoCTtO? (AR | P W% IWWWWWW@
' Sk ATEXXQIBVOR RTYE T 7 -
(A) EAGER .(B) A (A) EAGER (B) WAFER, "
WATER (D)QWAGER (C) WATER (D) WAGER
r w I
Which of the following plants is established 60. m%aﬁ?ﬁﬁmﬁ?r(@mm% ?
Lin Panipat 2 N,
) 011 refinery (B) Fertilizer (A) ﬁaﬂﬂ!ﬁﬁ (B) &t
(C) Sugar (D) Cement (C) = (D) T
61. l(lélclft;titslon 0{ 2 subgroups of a group. 6l. THIAE (G, * )ﬁazmﬁm'mm%?
(A), asubgroup of G (A) G 13968
group but not a subgroup of G (B) w98 AfF G 1 I9qqE qg’f-g
(C) notasubgroup of G (C) G =1 3Iuaqg 7Ei &
(D) none of these " '
. (D) T8 A &HIE 7
: ho wrote the book A
@ ) Samudragupta oAl |62, SRR e Rt Rt 8 7
ﬁllakcshi 5 :DEQN (A) |gsT=
0) Krishnadevaraya (B) gereheft
(Y chandragupta” . (C) TR
D) 26 | l“ (D) w=T< 7 ]
¢ V135 3 Iy 3 2§ @l \
3 o f (© 'QS i

t \ o DEFOM T x LMW
Xe 5
| m T = — - M
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I x+9, x -6, 4 are first three elements of

q.

GP then x is
(A)@.o \9/16. -16
(€) 0,16 D) -16/0)

64. Whichis the correct reason for the outbreak
for the situation of cold war ?

\}a/ Invasion on Pearl Harbour by Japan
Emergence of USA and USSR asrival

powers
v ©) I\z::at of «gxis force in thti_l_lf,__}'y.gﬂd

-

=

“-
{

" 1 pyusa/. = D
- . -

65. If x -2, x, x + 3 are first three elements of
GP then x is a3 ,-b
, q %@ - ®) V6
(C 6 (D) 0 -

(r@“ Haryana’s historic grand tomb is located
in which district, which is associated with

Shekh Chilli ?
Kurukshetra (B) Hansi
(C) Nunh * (D) Palwal

7. Who js the present CEO of PepsiCo ?
\?y/lrfdra Nooyi
B) Ramon Laguarta

(C) Shantanu Narayen
(D) None of the above

68. By which Amendment to the Constitution the
right to property was removed from the list
of Fundamental Rights ?

(A) 72™ (B) 74
44" . (D) 46"
N % -

(©) Bombing7\mmshimsi and Nagasaki

)

\ . -12-

/U

L
VA AR

63. AR x+9,x—6, 4 oIt oft & A o T

TdAx?
(A) 0,0
(C) 0,16

(B) 16,-16
(D) -16,0

64. it g 1 Ut & wehig b HEt HRT
FH-TE 7
(A) S ERT Tl BTelt OF ST
"« (B) uﬁlﬁw%ﬁ%mﬁaﬁﬁmaﬂt
Hifadd ¥4 <l 3UR
', (C) Tat fova gg d 3787 5/ Al ¥R
) (@) orfe g fedifien St AT w

arﬁnﬂ
365 M x - 2 X, x+3§"ﬂ’ﬂtﬁ"ﬁ%9ﬂq?ﬁ?ﬂﬁ
gdxg -
)3 (A) -6 ®); V6 -
| (C) 6 (D) 0 . -

66. zﬁamwiﬁmﬁmmwﬁmﬁqu
e dw fRgaze

(A) Fo&d (B) it '
(C) & (D) vYead
67. fEH (PepsiCo) F Fdum CEO 747 & 7
(A)
(B) = amref
(C) riag +A
(D) 3TEd § 4 1S 7
68. wferer H form Sene T Huft & st
| it st = & wer Ry m o 7
(A) 7239 B) 74§
(©) 447 (D) 463
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69." Who won the women's single tennis titleat 69. 2019 faere SR i “ﬁm@%(gg
© the 2019 Wimbledon Championships ? Aeqerrr Fope T 7
N"K Petra Kvitova (A) S ARCE LI
(B) Vinus williams (B) =y T
: (C) Serena williams ) atn fafea=
(D) Simona Halep : (D). Ft &t
Ii .
' 70, Langmuir isotherms holds at low pressure 70. ﬁwmﬁﬂmmq{ A R S
but fails 2 ) __——qj_ﬁmlgm% |
(ir\) Low temperature (A) HH ATIHM
(B) Intermediate pressure | (B) Hegadi a1
(C) High pressure L ' : (C) J=a <
~(D) None of these”" g . (D) FHABRT
' 71. Chaudhary Devilal Herbal Park is situated 71. aﬁaﬁ%a%araga‘aqﬁmﬁéﬁ@ﬂ% ?
in the distﬁ%::t'of 0 '
(A) Mewat (B) Panipat (A) Ha (B) WHId
©) Rewari \(96 "Yamunanagar (C) @t (D) TGAAT
72. Name of the lake which is; famous for| 72. = ® f@m gz & fore ufag it o &
tourism in Kamal. e
(A) Sultanpurlake (B) Taliyarlake (A) msﬁa (B) R e
(C) Barkhal lake Mama lake (C) ¥sEd Hia (D) =i gt
73. Compl ; ” .
zmpgct h & C e 73. @ @ ﬁﬁﬂf.l
19,3,26,30,33, 2. {6: 23,98, 30.93.9
£) 31 (D) 35
. : St D) 35.
74. If eachof lgglg:ltcrs in the English alphabet | 74, - N s ~
is assig@lﬂgﬁcal value beginning i Tas W & m‘{fa; bl A=1, B=3
A=]1B=3a8 ill be the total fea TR, 7162 INDIAN Gwmc L IC|
value of thele of the word INDIAN 7 FEW? e <l el oA
(A) 89 2075 ((’; 32 (B) 96 -
88 8 D
() 86 (D) (D) 88.
13- H
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19 (1) (k1) .
English Language

hoose the correct indirect form of the
ollowing sentence from the given options :

1S, He said to me “What are you reading” ?
(A) He asked me what I am reading
(B) He asked me what I was reading
(C) He said that what am I reading
@/ He said that what was I reading

Choose the part of the following sentence
which has an error :

76. Neither of the/two men were very strong.
\W Neither of the two
(B) Of the two men were
(C) Of the two men
(D) Noerror

Select one word substitute for the following :

77. ‘Gain or profit over and above one’s salary

or wages’.
(A) investment ‘_M surplus
(D) turnover

(C) perquisite
Select the synonym of the word in capital :
78. ZEAL

(A) brave

(C) increase

(B) soft

ép/ enthusiasm

Fill in the blanks with suitable preposition :
79. He was here

last week.
(A) on (B) at
©) in not needed
Fill in the blanks with appropriate word from
the options :
80. We by a loud noise duri ng last
night.

were wokenup (B) were waking up
( wogcc up (D) are woken up
81. Mr. Miller doesn’t like

U ARV A A

o= wran
8. WwWsR____ FHWEMTER|
(A) g .
(B) T S s 3
(C), UshddA

O feaem

84. ‘areie ¥ <y fumn @’ g% 9w

e o ToTT ST 2 0

A) HEE= (B) :?'a‘

\Ey)/aafaﬁa IR T
85. TH:+W =

(A) T M‘Fﬁw

(C) w™ (D) HF
86. g forflay |

(F) wFaw (31) T & =

(@) fﬁﬁn‘M‘(aﬂn) 7 1 o=

(M) wBI- (3) weft =1 5=
() Tt %) Faft s
(s) =@ (8) = s
&) @) M (@) ()
(A) #\3a I a §

(B) 3 \H _wr 3 é}
M oJ 3 3 3
®3 = 3 § g
87. ‘nyod’ v e} Y
(A) it v ot Sar ) ’
(©) ST BT (g &
dﬁfﬁﬁmaa%%?%gana‘r
88. WU @ ¥’ 7w ry

%?&%I S

waiting.
(A) kept (B) , is kept
(C) keep \g)( being kept
2. You can’t stop me what I want.
to do (B) thatldo
(C) doing (D) do
{ -14-
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